
Week 26 CM & Rotation
3. Torque

name:

1. Calculate the torque of A and the torque of B and circle who has more.

A B

700 N 500 N

3 meters2 meters

Torque of A:
Torque of B:

120 N

1 meter

200 N

0.5 meter

A

B

Torque of A:

Torque of B:

1,000 N

5 meters

3 meters

800 N

A
B

Torque of A: Torque of B:

A B

400 N 300 N

4 meters3 meters
Torque of A:

Torque of B:



Week 26 CM & Rotation
3. Torque

name:

2. In each case, decide whether the torque is clockwise, counterclockwise or zero.
The force and the CM is marked

CM

CM

CM☐ CW
☐ CCW
☐ Zero

☐ CW
☐ CCW
☐ Zero

☐ CW
☐ CCW
☐ Zero

CM

Guy Norris

☐ CW
☐ CCW
☐ Zero

☐ CW
☐ CCW
☐ Zero


	D1
	D1 2
	D2
	D2 2
	D3
	D3 2
	D4
	D4 2

